
  

OCTOBER 2011 U/ID 9010/JA2 

Time : Three hours Maximum : 50 marks 

Answer any THREE questions. 

All questions carry equal marks. 

1. Draw two Ogives and hence find out median 

geometrically from the given data : 

Wages : 200 – 300 300 – 400 400 – 500 500 – 600 

Number of 

workers : 
7 19 27 15 

Wages : 600 – 700 700 – 800 800 – 900  

Number of 

workers : 
12 10 8 

 

 RÌPsh ÂÁµ[PÐUS Cµsk KøPÆ ÷PõkPøÍ 

Áøµ¢x Auß ‰»® Cøh{ø»°ß ©v¨¤øÚU 

PõnÄ®. 

T¼ : 200 – 300 300 – 400 400 – 500 500 – 600 

÷Áø»¯õmPÎß 

GsoUøP : 
7 19 27 15 

T¼ : 600 – 700 700 – 800 800 – 900  

÷Áø»¯õmPÎß 

GsoUøP : 
12 10 8 
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2. Find mean, median, standard deviation and 

coefficient of variation to the following data : 

X : 100 – 110 110 – 120 120 – 130 130 – 140 

f : 4 16 36 52 

X : 140 – 150 150 – 160 160 – 170 170 – 180 

f : 64 40 32 11 

 RÌPõq® ¦ÒÎÂÁµzvØS \µõ\›, Cøh{ø», 
vmhÂ»UP®, ©õÖ£õmk öPÊ BQ¯ÁØøÓU 
PõnÄ®. 

X : 100 – 110 110 – 120 120 – 130 130 – 140 

f : 4 16 36 52 

X : 140 – 150 150 – 160 160 – 170 170 – 180 

f : 64 40 32 11 

3. Fit a binomial distribution for the following data : 

X : 0 1 2 3 4 5 6 7 

f : 7 6 19 35 30 23 7 1 

 ¤ßÁ¸® ¦ÒÎÂÁµzvØS J¸ DÖ¨¦ £µÁø» 
ö£õ¸zxP : 

X : 0 1 2 3 4 5 6 7 

f : 7 6 19 35 30 23 7 1 

4. (a) Find out correlation coefficient from the 

following data : 

X : 65 66 67 67 68 69 70 72 

Y : 67 68 65 68 72 72 69 71 
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 (b) The following data is about a Company’s 

Advertisement cost and sales. Find the two 

regression lines. 

 Advertisement 

Cost (X) 

Sales 

(Y) 

Mean 10 90 

S.D. 3 12 

  The correlation coefficient between X and Y, 

( ) 8.0, =YXr . 

 (A) RÌPsh ¦ÒÎ ÂÁµzvØS JmkÓÄ öPÊøÁ 

PõnÄ®. 

X : 65 66 67 67 68 69 70 72 

Y : 67 68 65 68 72 72 69 71 

 (B) RÌPsh ¦ÒÎÂÁµ® J¸ P®ö£Û°ß 

ÂÍ®£µzvØS BS® ö\»Ä ©ØÖ® Auß 

ÂØ£øÚø¯ £ØÔ¯x. Cv¼¸¢x Cµsk 

öuõhº¦ ÷PõkPøÍ Psk¤iUPÄ®. 

 ÂÍ®£µzvØS 

BS® ö\»Ä 

(X) 

ÂØ£øÚ 

(Y) 

\µõ\› 10 90 

vmhÂ»UP® 3 12 

  X ©ØÖ® Y Cøh÷¯ EÒÍ JmkÓÄU öPÊ : 

( ) 8.0, =YXr . 
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5. Two random samples are drawn from two normal 

populations had the following data. Test whether 

the means are equal. 

Sample I : 25 32 30 34 24 14 32 24 30 31 35 25    

Sample II : 44 34 22 10 47 31 40 30 32 35 18 21 35 29 22 

 ÷©÷» öPõkUP¨£mkÒÍøÁ Cµsk C¯À{ø» 
•Ê öuõSv°¼¸¢x GkUP¨£mh Cµsk µõsh® 
©õv›PÒ. J÷µ \µõ\›PÒ EÒÍøÁ¯õ GßÖ ÷\õuøÚ 
ö\´P. 

——————— 


